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Secion A: (28 x 2 marks = 58 marks)

For each guestion from 1 to 28, four options are given. Cne of them is the
correct anawer. Make your cholce (1, 2, 3 or 4). Shada the correct oval (1,2,3
or 4) on the Oplical Answer Shest.

1. The diagram below shows a food web,

Which one of the foliowing shows a correct food chain from the above
food web?

1) C—-8=E
2 R-oP-oE
B8 E—-PSR-C
4 G-F-=PoE

2, The statements below describe some adaptations of an earthwom.

A An earthwonm has a ‘streamlined body shape to help it move easily
through the soil.

B An sarthworm can twist fis body around wildly In an attempt to free
itself from its predator.

C  An earthworm releases mucus fo help it glide through the soil quickly

_ when R is being threatenad.

D An earthworm camouflages well with the soil owing to the colour of its
body and that prevents it from belng spoited easily by its predators.

Which statemeni(s) above showi(s) the behavioural adaptation(s) of the
earthworm that can enhancs its survival?

{1) Bonly
{2) AandD only
{3) BandConly

(4 ABCandD
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3 A large volume of acidic waste gases has been released from the
waste pipes from the factory site into the air as shown in the diagram
below since 1950. The arrow shows the constant direction of the wind.

wind

factory site

Which one of the following graphs best represents the effect of the
acidic waste gases on the forest for the next five years?

M &)

Number of healthy trees Number’of healthy trees
present per km? present per km?
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%
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Which of the following statements correcily describe how fungi and
green plant obtain food?

Creen plants can photosynthesize.

Fungi get food by decomposing dead matter.

Green plants cannot move freely from place to placs to look for
food.

Owx

(1) AandBonly

(2) B and C only

(3) A BandC

(4)  None of the above
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5. The diagram below shows the reproduction process in human beings.

e + ®

1

fertilisation

fertilised egg ———( )

=— cell division

foetus

Which one of the following statements is false?

(1)
(2)

(3)
4)

The fertilised egg develops into a foetus in the mother's womb.
All the eggs produced by the ovaries will eventually develop into
young organisms.

The fertilised egg divides to form many cells and they form the
different parts of the developing baby.

Generally, only one sperm will fuse with the egg while the
remaining sperm will eventually die.
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6. The graph below shows the number of days taken for varicus stages in
the life cycles of insects P and Q.
Days
p . B S —
- [ B i
\
18 - \ Insect P

77

o
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TUEEE k\\\\\
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_

&5 Insect Q

,,
_

//

egg larva pupa

Stages of life cycles of insects P and Q

At which stage of the life cycle would insects P and Q be on the 17"
day after the eggs were laid?

Stages of life cycles
- insectP InsectQ
(1) Adult Larva —
(2) Adult Pupa
(3) Pupa Larva
@ Pupa Pupa
-5-
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7 The diagram below shows a bag which holds a mixture of starch and
water. It is placed into a beaker containing water with iodine solution.

= Fa

Water with iodine _t:=
solution

Bag of starch and _ -
water mixture  finov- L

After 3 hours, patches of dark blue were seen only in the starch and
water mixture. Which part of the cell in the diagram below does the
bag resemble?
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The diagram below shows a human digestive sysiem.

The chart below shows how the organs of the human digestive system
are classified.

Digestive System

B EF A CD

Based on the diagram and the classification chart above, which one of
the following shows the correct heading for Y?

(1)  Where digestion takes place.

(2) Where digestion is completed.

(3) Where absorption of water takes place.

(4) Where absorption of digested food takes place.
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9.

An outer ring of a stem from a plant was removed, as shown below.
As a result, the food-carrying and water-carrying tubes were removed.

a close-up view

After two weeks, which one of the following correctly describes what
would happen to Part X and Y?

Part X PartY
(1) Wilted Remained green
(2) Wilted Wilted

(3)

Remained green

Remained green

“)

Remained green

Wilted
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10.  The diagrams below show a rotiing log community and a food web in
the same community.

l‘u‘iiliiede

Bracket fungi

Earlhwo_rjn

e rn

Rotting iog \

\\- Miilipede\
Termite

T > Centipede

Woodlouse

Which of the following statement(s) is/ are correct?

A The rotting log is a habitat.

B The termite and centipede are decomposers.

C There is only one camivore in this community.

D The woodlouse and millipede help speed up decomposition.

(1) Donly

(20 BandConly
(3) A, C and D only
4 AB,CandD
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11. A, B, C and D are four living organisms in a community. The table
below shows the food of these four organisms.

Food Consumer Food
A P
B Pand A
C Band D
D Aand B

Which one of the following food webs is found in this community?

(1) P\(\ @) P
e Wl
B—> A—*> D B—>A—*>C

3) (4)

A/JEYB D A{*t——'*c
e b \é/‘
-10-
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12.  The diagrams below show the beaks of four different birds, A, B, C and
D. The beaks are different in structures and are adapted to different
methods of feeding.

C D

Which one of the following shows the correct function of the beak for
birds A, B,Cand D? -

A B c D
Holding fish
(1) | Sipping nectar | Tearing flesh caught Catching insect
_underwater
_ Holding fish
(2) | Catching insect | Sipping nectar | Tearing flesh caught
underwater
Holding fish
(3) | Sipping nectar | Catching insect caught Tearing flesh
underwater _
Holding fish
(4) | Tearingflesh | Sipping nectar | Catching insect caught
underwater
A=
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13. In the ocean, Animal Y is protected from its predator by the stinging
tentacles of Animal X.

Animal X

Animal Y

Animal Z feeds on Animal X. Animal Y will chase away Animal Zto
prevent it from eating Animal X as shown in the diagram below.

Animal X

Get away from
Animal X!

Animal Y
Animal Z

Which of the following statements correctly describe the relationship
among Animal X, Animal Y and Animal Z7

A Animal Z feeds on Animal X. -

B Animal X protects Animal Y from predators.

C Animal Y helps protect Animal Z from Animal X.

D Animal X and Y help each other to survive in the ocean.®

(1) AandD only
(2) BandConly

(3) A, BandD only
4) ABCandD

-12-
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14. A layer of cooking oil was poured into the pond as shown in the
diagram below.

Some frogs were found in the pond community and they lay éggs

floating

submerged
plant

tadpoles

amongst submerged plants. Their young spend the whole time in the
water, while the adults move in and out of the water every day. The
adult frogs feed on insects above the water.

Which of the following statement(s) is/are true?

A
B

Cc

(1)
(2)

(4)

There are 5 populations in this community. _
The floating plants will die after some time as they were not able

to absorb water through their roots.

The tadpoles will swim to the surface and breathe in oxygen

from the air as there was not enough oxygen in the water.

A only

B only

B and C only
A, BandC

43
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15.

The diagrams below show Fruit X and Fruit Y.
Which of the following graphs best shows how wind strength affects the
distance the seeds of Fruit X and Fruit Y are dispersed from their
parent plants?
= N Graph A e A Graph B
o e
- @ =
o c G i~
O ®© O ©
ey %8
5§ S5
&g 58
= 8
L @
o a
Wind strength Wind strength
A Graph C _ Graph D
o e
e @ -
- = o E
O ®© 0 ©
$a a2
5 5 5§
1) 1)
ea c g
g 8
2 <]
=) =)
Wind strength - Wind strength
Fruit X FruitY
(1) A B
(2) A Cc
(3) C A
(4) C D
-14-
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16.

The heart is stopped during an open heart surgery. The heart is also
emptied of blood. A heart-lung machine, which mainly consists of a
pump and an oxygenator, which is made up of tubes, is used during
surgery. Blood is channelled from a certain bloed vessel P into the
pump and then to the oxygenator, bypassing the heart and lungs of the
patient. After passing through the machine, the blocd is then retumed
into blood vessel Q and to all parts of the body.

Below is a simplified diagram, which shows the layout of the heart-iung
‘ machine and its connection to the heart.

Gases out
Al
Oxygenator
=8 pymp == (Artificial lung)==)
] Key :
Tal Directiof
{ —#  of blood
.Gases in ) flow
Blood vessel R
Blood vessel Q

Blood vessel P

¥

Below is the description of the blood vessels, R and Q. Which one of
the following options shows the correct descriptions of the blood
vessels in the diagram above?

Description of blood

carbon dioxide than in Q

. Description of blood
Option | yessel R , vessel Q
@) Contains lower amount of Contains higher amount of
oxygen thanin Q- carbon dioxide than in R
(2) Contains higher amount of | Contains higher amount of

oxygen than in R

©)

Contains lower amount of
carbon dioxide than in Q

Contains lower amount of
oxygen than in R

(4)

Contains the same amount
of oxygen as Q

Contains the same amount

-15-
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17.  The graph below shows the amount of oxygen released and taken up
by a tree during a 24-hour period.

Oxygen RABE
released by ’ “
tree P " i
X_-l \
0 ¥ q t T
, noon ' midnight
Oxygen taken ,' Y
up by tree 2 R b
v

Which one of the following statements best describes the situation at
point P?

(1)  Respiration begins.

(2) Photosynthesis stops.

(3) The amount of oxygen taken in for respiration is equal to the
amount of oxygen produced during photosynthesis.

(4)  The amount of oxygen taken in for respiration is greater than the -
amount of oxygen given out during photosynthesis.

-16-
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18.

Amount
of

energy

A group of pupils conducted an investigation with two identical light
bulbs, X and Y. A heat sensor and a light sensor were used {o measure
the amount of heat and light given out by the two light bulbs.

The graph below shows the amount of heat and light given out by the
two light bulbs.

Key

Light

Heat.

Bulb X BubY

Based on the graph above, which of the following statements are
definitely true about light bulbs X and Y?

A

B
C
D

(1)
(2)
3)
)

Bulb Y will last longer than Bulb X.

Bulb Y is more energy efficient than Bulb X.

Electrical energy is converted to more unwanted energy in Bulb
XthanBulb Y.

Bulb X will be hotter than Bulb Y when the same amount of
electricity is supplied.

A and C only

B and D only

B, C and D only
A B, CandD

2

www.testpapersfree.com




19.- A punching bag is a sturdy bag designed to be repeatedly punched.

punching bag

The table below shows properties of four materials, W, X, Yand Z. A
tick ( \/ ) shows that the material has the property.

Property Material

: W X Y. Z
Strong s ‘/
Flexible v v
Transparent v/ ‘/
Ability to float o

Which material is most suitable for making the punching bag?

1 W
2 X
3 Y
4 Z

18-
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20.  Fruit will sometimes fall from the tree when it ripens.

Which forces acted on the fruit as it fell from the tree?

)

pushing force

air resistance
gravitational force
elastic spring force

A and D only
B and C only
A, B and C only
B, C and D only

-19-
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21

Wendy made an observation of two identical metaliic spheres, P and Q,
each hung by a string from a retort stand. Sphere P was moved to
position X and released. When Sphere P hit Sphere Q, Sphere Q
swung up to position Y.

Which of the following statement(s) about the spheres at their different
positions is/are correct?

A Sphere P transferred its energy to Sphere Q when it struck
Sphere Q at position Z.

B The gravitational force acting on Sphere Q increased as it
moved from position Z to position Y.

Cc The amount of kinetic energy possessed by Sphere Q
decreased as it moved from position Z towards position Y.

D The amount of gravitational potential energy possessed by
Sphere P decreased as it moved from position X towards
position Z.

(1) Aonly

(2) BandD only
(3) A,CandDonly
(4) B, CandDonly

-20-
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22.

Identical swiiches, builbs and dry cells are used in the circuits below.

{ 1 |
Lol |+ —
N

¢— 909 -

A B C D E F

.
[

One of the circuit will not light up. Below are some statements about
the bulbs?

A Bulb A is the brightest.

B Bulb E is brighter than Bulb C.

C Bulbs E and F have the same brightness.

D Buibs B, C and D have the same brighitness.'

Which of the above statemeni(s) is/are true?
(1) Aonly
(2) A, CandD only

(3) B,CandD only
4) ABCandD

=2

www.testpapersfree.com




23.  The set-up below shows light shining.on object X.

Torch Object X Screen

The shadow cast on the screen is shown below.

Tl
Shadow
L R of X

Screen

What conclusions could you draw from the observation?

A Object X is made of different types of materials.

B Part R blocked the path of light from the torch.

C Part S allowed more light to pass through than part P.
D Part P allowed more light to pass through than Q.

(1) AandBonly
(2) CandDonly

(3) A, BandConly
4 ABCandD

299
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Fried ice cream is made by wrapping ice cream with a layer of bread
dough. It is then wrapped with a layer of aluminium foil and fried in hot
oil till the outer layer of dough is golden brown.
Ice cream
Air bubbles
Aluminium

foil Dough

Why does the ice cream not melt?

(M
@
3)
)

Air is a good conductor of heat and conducts the heat away from
the ice cream quickly.

Air is a poor conductor of heat and slows down the heat gained
by the ice cream.

The aluminium foil is a good conductor of heat and conducis the
heat away from the ice cream quickly.

The aluminium foil is a poor conductor of heat and slows down
the heat gained by the ice cream.

23
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25 The diagram below shows a pump which was fitted to a container with a
capacity of 200 cm3.

plunger pulled back

-

container with
capacity of 200 cm?®

50 cm?3 of water—:——

Each time the plunger of the pump is pulled back completely, 20 cm? of

air would be drawn out of the container.

Which one of the following shows the correct volume of air and water in
the container after the plunger is pulled back completely once?

Volume of air (cm?®) Volume of water (cm?)
(1) 130 70
@) 130 50 ;
3) 150 50
(4) 170 30

0. 1=
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26. A group of pupils were heating a cup of water over a heating plate as
shown in the diagram below.

§ ! N :
.
—— “"'-q.\ '-u—...._\"-“'-n

‘;—-ﬁr—— white mist

bubble
cup of water

heating plate

Some of the pupils made the following statements:

Tom The white mist is steam.

There is a decrease in volume of water as the water

& vapour has evaporated.

When water boils and bubbles are observed in the water,

Jane the bubbles contain only oxygen.

Which of the above statement(s) made by the pupils is/are correct?

(1) Tomonly

(2)  Jane and Tom only

(3) Tom, Ali and Jane only
(4)  None of the above
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27.  Four metal bars, A, B, C and D, were hung from a rod as shown in the
diagram below. The two ends of each metal bar were markéd X and Y.
The north pole of a bar magnet was brought near X and then Y of each

metal bar respectively.

S N

bar magnet

The table shows the observations made during the experiment.

Metal Observation
Bar North Pole and X North Pole and Y
A Repelled Attracted
B Attracted Attracted
G Neither attracted nor Neither attracted nor
repelled repelled
D Attracted Repelled

Which of the following statement(s) isfare incorrect?

A Bar B is a magnet.

B Bar C is the weakest magnet.

C Two of the metal bars are magnets.

D All the metal bars are made of magnetic materials.
(1) Conly

(2) AandBonly
(3) CandD only
(4) A, BandDonly

-26-
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28.

Susan conducied an experiment. She placed a wooden block on a flat
surface made of material X. She then applied a force, F, to give the
wooden block a push. The block moved forward and stopped at a
distance d as shown.

wogden block

material X

N

Susan repeated the experiment by adding item A and item B
respectively onto material X. The same force, F, was used to push the
wooden block. She recorded her results in the table below.

ltem added to the .
suiface of material X Distance d/ cm
None 10
A 5
B 15

Based on her results, what could item A and ifem B be?

ltem A item B
(1) oil sand grains
(2) sandpaper , oil
(3) water oil
(4) sand grains sandpaper

a7
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Section B: (44 marks)

White your answers o questions 29 to 41.

The number of marks available is shown in brackets [ ] at the end of each question
or part question.

29. The graph below shows how a population of fish in a lake changed over a

period of time.
i A B|C D i
population /
of fish
.....—-—-—“""—‘" M
time

(@)  Inwhich time interval, A, B, C, D or E, did the population of fish increase the
most quickly? (1]

(b)  What does part D of the graph show about the birth rate and death rate of
the fish? [1]

(¢) Part E of the graph shows a drastic drop in the population of the fish?
Give two reasons for the decrease in population. [2]

Score
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30.

(@)

Plants need nutrients for healthy growth.

Name the plant part that absorbs nutrients from the soil. [}

The picture below shows a pitcher plant.

green leaf

Pitcher plants have two types of leaves, green leaves and pitchers.
Pitcher plants get nutrients from insects. They use the digestive liquid!

stored in their pitchers to 'digest’ insects.

The picture below shows the cross-section of a pitcher.

green leaf
edge coated
with nectar
smooth and slippery
inner surface pitcher
fallen insect

digestive liquid

The plant produces nectar at the edge of the pitcher.
The inner surface of the pitcher is very smooth and slippery.
At the bottom of the pitcher, digestive liquid can be found.

Score
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(b)

(c)

Apart from the digestive liquid, siate 2 other adapiations of the piicher plant
based on the given information and explain how the adapiations help it to
get nuirients. [2]

Adaptaticn 1:

Explanation:

Adaptation 2:

Explanation:

The pitcher plant has green leaves tco. Explain how the green leaves hel;[;
the plant to survive? [1

Score
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31. The graph below shows how the amount of carbon dioxide in the air ind
City X has changed over the years from 1960 to 2000.

F-9
QOO - dos i o o oot o i At St e s 5
380:..__ — T T e e . et et e it
BTO -~ e s = 1t s s s p——
B "'-\mf?unt OF  BB0ipg oo e a1 e sz
carbo dioxide gy | e i e s e
/ unit
340 - e - e e e
BA0 o rdemmens « e e o st g e rgn e sma i e -
390 ~fo s g e R R
310 , . >
1960 1970 1980 1990 2000
Year

() Based on the graph above, state the relationship between the years anéi
the amount of carbon dioxide present in the air. [1}

(b) Explain with the data provided how the change in the amount of carbon

dioxide in the air contributes to global warming. [2]
(c) Suggest one way how man can help to reduce the amount of carbon
dioxide released by cars in a city. [1]
| Score
4
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32. Mining activities from a copper mine can have a negative impact on the
environment. It may release harmiul substances such as copper into the soil.
When earthworms eat this soil they change from brown to bright yellow
celour.

Earthworms are part of the food chain shown below.

soil containing
plant remains

(a) In the feod chain above, sparrowhawks are found to have copper in their
bodies. Explain how this happened. (1

(b)  Blackbirds are more likely to catch bright yellow earthworms than brown
earthworms. Explain why. (1

Score
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33.

(@)

(b)

(c)

Sam conducted an experiment using the set-ups below. He placed twd
identical glasses, A and B, in a room with a temperature of 27°C.

He poured the same amount of warm water with a temperature of 40°C inta
the 2 glasses. He then sprayed some tap water onto the surface of glass B.

He measured the temperature of the water in the two glasses after
15 minutes.

warm water
water at droplets
40°C
Glass A Glass B

In which glass, A or B, would the temperature of the water be lower aftes
15 minutes? _ (11

Explain your answer for part (a). [1}

Koalas do not sweat but they lick themselves on hot days.

With reference to the experiment above, explain how the behaviourat
adaptation of licking itself help it to survive in hot weather. [21

Score
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Equal amount of water samples were collected from various points of
River X between positions P and Q. The arrow in the diagram shows the
direction that the river is flowing. The amount of pollutants and the number
of organisms in the water samples were measured.

Human Activity

River X

The graph below shows the relationship between the amount of pollutants
and the number of organisms A, B and C.
L3

Number of organisms

Amount of pollutants

(@)  Which organism, A, B or C, is most harmed by the amount of pollutants ir
River X? Give a reason. [1]

(b)  Describe a human activity that could have caused the increase in the
level of pollutants in River X. [1]

" Score
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35. The diagram below shows two plants with different types of roots.

Plant X PlantY

(a) A farmer chose to grow Plant X on the slope near his plantation to preve?i
landslides during heavy storms. Give a reason for his choice. [

The diagram below shbws a water lily plant.

flower leaf

pond surface

R T 3 1

(b)  Water lilies do not grow well in fast moving water. Suggest a reason for this.

(1]

()  Water lilies produce large yeflow flolvers. The flowers float on the surface of!
the pond. Suggest one way these brightly-coloured floating flowers help the
water lily to reproduce. [1]

Score
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36. 3 identical beakers, A, B and C, containing an equal volume of water were
set up as shown below. A small fish was placed in beaker A and a water
piant in beaker C. The water surface of the three beakers was covered with
a layer of cll. The beakers were kept in a dark room for three hours.

il

fish water - whater

plant

(@) Whatis the change in the volume of oxygen in set-ups A and C before
and after it was kept in the dark room for 3 hours? Explain your answer

[21

(b) Explain the purpose of set-up B? [17:

Score
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37. Xiao Lan wanted fo make an electromagnet from an aluminium roc,
batteries, copper wire and a switch. She set up a circuit as shown in the
diagram below.

batteries

__A

aluminium
rod
switch

copper wire

After closing the switch, she brought some steel paper clips near thé
aluminium rod. The paper clips were not attracted to the rod.

(@)  Explain why the paper clips were not attracted to the aluminium rod. (1}

Her father told her that she had made a mistake in her set-up.

(b)  What should Xiac Lan do to her set-up to make it work? 1]

(¢) In scrap yards, electromagnets are used to lift heavy metals. State the
advantage of using electromagnet over permanent magnet for this job.  [1]

Score

-10-
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38.  Lily went to Japan for a winter holiday with her family. She felt cold as she
queued to go up the coach at the open air carpark. Fortunately, there was a
heater installed in the coach. While she was travelling in a coach from one
town to another, she observed that mist was formed on the inner surface of

the window in the coach.

(a) Explain how the mist was formed on the inner surface of the window. 2]

Lily drew the following words “l love snow!” on the wet window with her
index finger and fell asleep.

mist

(b)  After a while, Lily realized that the words were missing though nobody wiped
it away. Explain how it happened. [1]

Score

-11-
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38. The diagram below shows Kate diving into a swimming pool.

0.5 sec

0.5 sec

0.5 sec

(@)  Why does Kate have no kinetic energy at A? (1]

Score
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(b)

(0)

(d)

(€

Kate took 0.5 second to fail from A to B and from B to C and from C to D as
shown in the diagram. With the given information, how can vou tell that her
speed was the fastest when she was falling from C to D? [11

State the force that causes Kate to speed up as she falls. [

Explain, in terms of energy conversion, why Kate's speed increases when
she falls. (1

When Kate enters the water, she slows down. Explain, in terms of energy
conversion, why she slows down. SR

Score

43
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40.

(@)

(b)

(©

Peter placed a paper cup and a metal cup of identical size on the kitchen
table for an hour.  The room temperature was 29 °C.

Sally came in and held the two cups in her hands and felt that the metal cup
was colder than the paper cup. 7

paper cup

What is the likely temperature of the paper cup and metal cup when she ﬁrsti
held the cups in her hands? [1]i

i
]

(i) Temperature of the metal cup:

(i)  Temperature of the paper cup :

Why does the metal cup feel colder than the paper cup? [2]
Why must the cups be of identical size to ensure a fair-test? 1]
Score
4
-14-
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41. Five boys decided to have a competition to find out who was the strongest.
They had three types of chest expander namely, 'Mr Universe’, ‘Muscle Man’
and ‘Champion’. They took turns to see how much they could expand each
of the chest expanders.

chest expander

Their results are shown below.

Chest expander /cm
Name Mr Universe MuscleMan | Champion
Darian 26 . 64 32
Julian ! 36 72 42
Ahmad 36 | 72 | 40
Hafiz 26 64 ; _ 33
Peter 20 57 | 26

(a) State the force that is needed to increase the length of the chest expander?

(1]

(b) Using the data provided in the table, arrange the strength of the five boys in
descending order. (1

()  Which chest expander is the most suitable in differentiating their strength?
Why? [1]

- END OF PAPER -

‘Score

A5
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Nama

Pratim 2017 P8 Discussions

Class:P6

292

The birth rate of the fish is equal to the death rate of the
fish.

-Both the birth rate and death rate remalg the same(X)

Remain the same cld mean dn change since part C,
means birth rate more than death rate.

There ave new predators in the lake
The lake dried up
Thers is no more food for the fish

There Is disease-causing organisms which killsd the
fish

-Naturat disaster/ Flooding /Fire Tsunami [X]
Too general. Flooding is more water how it affect?
Tsunami

-Conditions/habitat bscame unfavourable [X]
Did not

30a

‘Reots / root hairs

Adaptation 1 : Nectar
Explanation : To attract ingecis

Adaptation 2 : Smooth and slippery inner surfzee of the
pitcher
Explanation : To prevent insacts from crawling out

-| because insacts will slip and fail into the digesiive liquid

-To preven insacts from escaping easily [X]

Does
too general

|
\
|
!
‘ 29b
20¢
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The chlorophylt in the green leaves trap light te make
food for the plant.

L]

~The green leaves wap ngnt 10 make 1004 Tor he pari
when there are no insects.

misconczaption:
Pupils thought that the nutrients from the digested’

30¢ insects is food for the plant. [X]
As the years Increases/passes, the amount of carbon
31a. dicxdide increases,
— ~ Carbon dioxide will trap more heat on Eacth. [X]
More carbon dioxide ....more heat....temperature
| increase (comparative all the way). Take note of
; i buddy
An Inerease in carbon digyxide will trap more heat on
earth, ' ! Misconception:
With more heat trapped on Earth, the temparature -When the amount of carbon dioxide in the air
31b. | Increased, also known as giohal warmming increases, it thing the ozone layer which causes the
. temperature to rise [X]
Ozona igver thinning is causa by
{chiorofiuro carbon) eg from hairsprays.
Carpaoling / taking public transport / riding 2 bicycle - Buses /oicycles [X]
instead of driving a car / electric car instead of driving Not elear
31¢ | cars that uses petrol and diesel fuelf take buses
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Tha gariwrorms feed on the plant remains and ga!
copper in thelr bodies.

The blackbirds feed on the earthworms and copper is
transfer to the blackbinds bodies,

The copper is then passed on from the blackbirds 1o the

Short sentences
narne
: Don't use pronouns.

t Not clear since so many animals in the qQn.

~The earthworm eats the sail, it will have copper in

their body. This will pass down to the blackbird then to
the sparrowhawk. [X]

32a | sparrowhawks when spatrowhawks feed on the (On mention that copper is passad on when
blackbirds, sparrowhawk eats blackbird)
-Aftar the earthworm eat the soil with copper, the )
blackbird will eat the earthworm. The sparrowhak will
then eat the Blackbird. Thus the copper is found in the
sparrowhawk. [X]
(Dn show the transier of copper to blackbird and
sparrowhawk)
- The brown sarthworm ara less sasily spofttad as it is
aile o camoutiage with the brown soil.
The yellow earthworms are more easlly snotted as it is This answer is
notable to blond infeamoutisge with its surroundings,
32 | Unlike the brown earthworms. ~The brown earthworm is the same colour as the soil.
(X]
{Not clear
3Ba [ Glass B
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The water droplets gained heat from the warm water in
Glass B (o evaporate. -

Qther acceptable answers:

| The water droplets take the heat away from the warm

water

| - The wates droplets use heat from the wam water [X]

-Many dn know that there is heat transfer during the
process of evaporation.

o

When it licks itself, saliva will gzin heat from the koala's
body and evaporate, thereby koala fose heat and cool
down.on hot days.

Do not penalize if pupils mentioned water from the
koala instead of saliva.

Award Marking Point 2 only when Marking Point 1 is
present,

Other acceptable answers:
Saliva takas away/ draws heat from the koala's body
and evaporate,

Evaporating water will gain heat from the koala's body
Moistspit {0 replace saliva

| Prevents thein from overheating

-The saliva gained heat from the surmounding air and
evaporated

-hdany missing heat is used for evaporation. Missing
evaporation.

-Missing cool down.

Organism C as it has the lowest number of organism
present as the amount of poliutant increase,

-To include and
variables

34b

Farmers use fertllizers and pestlicides in {arms, these
fertilisers and pesticides flow into the tiver and cause
pollution Or

Human dump wastss into the river.

- Fertilisers are used in the farm. .
dust mention info river. Farm is stifl

. which is asked in gn
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35a

The.roots of Plant X are more widespread to

bindfhold the soll together better to prevent soil
erosion / to anchor the plant in the soil.

-hust have comparison.
Because in gn “A farmer chose. ....

-wider roots....[X)

35b.

The roots could be pufled out, thereby damaging the
plant,

OR

The plant will be uprooted.

35¢.

and atiract them to help gollinate the flowars .

OR
Increase chances of pollinators potlinating the flowers.

-More ...to pollinate plant..... IX]
They will be more easily szon by bees/ insecis! animals

There will be a decrease in the amount of oxygen in
both set-up A and C as both the fish and wates plant

fake in oxyaen 1o respire.

Able w0 identify the appropriate process that is
octurring using the data provided

36b.

% act as a confrol to compare and contirm that
viygelt is taken in by living things.

OR
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it acls as a confrel to compare and confirm that the
decrease in the volume of oxygen in the setups is
due to the living things taking in the oxygen .

Alurinum rod is @ non-magnetic material therefore it

cannot be madeinle ag elsciromagnet.
37a. '
She should change the rod to a steel or iron. - She should change the rod to a magnetic matarial,
Write exactly
37b.
1. Change to a2 metal rod, [X]
s 3 Metai can be aluminum rod,
The electromagnet can lose its magnefism/demagnetise | - Using eleciromagnsts, you can dropthe heavy
more easlly than permanent magnet to drop the metals | metals by turing off the switch [X]
No comparison with permanent magnet.
OR |
The strength of the electromagnet-can be controlled
unlike the permanent magnet, E
!

It Is easler for electromagnet to drop heavy metals by
switching the circuit off compared to a permanent
magnet.
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Warmer water vagour in the surrounding air in the

£oach touchas the cooler supface of the windew.
The water vapour lost heat o the window and

condenses to form water droplets.

The water dropleta/mist gain heat from the
a8 surroundings and evaporated.

She was not moving / stationary - She has not (started) diving / has not jumpad
393 Unclear

For the same_amount of me, Kate ravelied the
30 lonpiest distance from C to D,
38c | Gravity / Weight / Gravitational foree

ldorg of her gravitational potential energy was - GPE converted to more K& [X]
204 converted to kinetic energy.

-Usg conversion arrows

Serne of her Kinatie enoray Iv eonverted fo heat and

29 gound energy when she enters the water.
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20°0 wi) e :

Both must be room temperature. Why?

400

{ dletal is g better conductor of heat than paper.
conduct haat faster

Metal will faster from the hand to
surrounding alr. Thus, the hand will feel colder.

40¢

OR =

To ensure that the amount of heat conducted away from
the hand is only dua fo the type of material and not the
size of fhe cups.

|
|

So that the size of the cups will not affect the amount of |
heat conducted away from the hand |

1
|
i
i
1

i

41a

Pulling force.

| Elastic force 7 lastic spring forca[\]

t

410,

Jullan, Ahmad, Hafiz, Darian, Peter

41¢.

 Champion, As it is able to show a difference in (he

length stretched by Julian and Anmad as compared to
the other two chest expander which shows the same
values.

OR -

The length the boys can pull for Champion is ali
different.

Notes :

30. Pitcher plant found in areas whers the soll is deficient in nitrogen. So to overco
bacause insecis act a

They siill make food like any other plants whether there is inse

sourea forihe plants.

9

AP

me the nitrogen deficiency they trap insects

Cis or not.
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